MIA M DADE MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Eastern Metal Supply, Inc.
4268 Westroads Drive
West Palm Beach, Florida 33407

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: ASSA /Extruded Bertha Bahama Shutter

APPROVAL DOCUMENT: Drawing No. 02-464, titled “ ASSA/Extruded Bertha Bahama Shutter ”, sheets 1
through 8 of 8, prepared by Tilteco, Inc., dated September 30, 2002, bearing the Miami-Dade County Product
Control Approval stamp with the Notice of Acceptance number and approval date by the Miami-Dade County
Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

NOA No 02-1113.01
Expiration Date: 12/12/2007
Approval Date: 12/12/2002
Page 1




302" 302" 1. BAHAMA SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT HAS SEEN OESIGNED IN ACCORDANCE WITH
THE 2001 ECITION OF THE FLORIOA BUADING COOE.
2.500° 3 OESIGN WIND LOADS SHALL BE DETERMINED AS PER SETTION 1619 OF THE ABOVE MENTIONED CODE, FOR A
— w02° 3 BASIC WIND SPEED OF 146 m.p.h, AN IN ACCORDANCE W/ ASCE 7-98 STANDARD.
I— _m._,,zg- X . BAHAMA SHUTTER'S ADEDUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH
.68 .oe8" SECTION 1608.1.4 OF THE ABOVE MENTIONED CODE AS PER PA-201, PA-202, PA-203.
+
I T ' - 2. ALL ALUMINUM EXTRUSIONS SHALL BE 6083-T8 ALLOY (UNLESS OTHERWISE NOTED).
g3 J. AL SCREWS TO 8€ STAMLESS STEEL 304 OR 316 SERES W/ 50 ki YIELD POINT AND 90 ksi TENSKE
2z STRENGTH OR CORROSION RESISTANT COATED CARGION STEEL AS PER DIN 50018,
L .250° 4. ALL ALUMINUM POP RIVETS TO GE 5052 ALUMINUM ALLOY WITH ALUMINUM MANOREL.
— : t ; . ~ . e Lo
S 9_: ———] © 989" ] R.403 7 508" ‘ 5. BOLTS O BE 2024~T4 ALUMMUM ALLOY CAUANZED OR STANLESS STEEL MTH 35 xai UNMUM MM
2.374% . JIn* “ 8, ANCHORS TO WALL SHALL BE AS FOLLOWS: (UMLESS OTHERWISE NOTED)
(A) TO DXISTING POURED CONCRETE:
="1/4" 8 TAPCON ANCHORS AS MANUFACTURED 8Y |.TW. BURLDEX OR ELCO TEXTRON
@) REGULAR INTERIOR MULLION — (A2 HEAVY INTERIOR MULLION FEMALE HINGE — (©) B. O. FEMALE HINGE = (i 3 508" SikEW iveoons 45 \amiricruneD oy THE POWERS. FASTENRG, NG
6005-T5 Alum. ALLOY 6005-TS5 Alum. ALLOY SCALE: 1/2° = 1~ SCALE: 1/2" = 1* NOTES:
SCALE. 1/2% = 1° SCALE: 1/2° = 1° A1) MINMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 1/2"
A.2) CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.
. . MO’ EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
0 f—1.322"—~ 1/4° #-20 SCREWS USED SHALL BE | 1/2° LONG MINMUM SHOULD STUCCO EXIST AND 1° MINIMUM FOR WALLS
COMPONENTS 3 our s el T —e—y R e
N e A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WAL
| - OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHINO SUCH PANELS.
= . ANCHORAGE SHALL BE AS INDICATED ON NOTES A.1) & A.2) ABOVE.
! A R219" . 3
I 9 R.157° : . : = (8) TO EXISTING CONCRETE BLOCK WALL:
L. N Y ‘ 3 . 9 § 8 - 1/4" 8 TAPCON ANCHORS AS MANUFACTURED 8Y .T.W. BUNLDEX OR ELCO TEXTRON
N PRPCII- 2 N § —f |2 >, 8 0~ - 1/4" 8 x 7/8° CALK~IN ANCHORS AS MANUFACTURED BY THE POWERS FASTENING, INC.
3 ~ - : g ’ NOTES:
= R.250" [ PT - B.1) MINMUM EMBEDMENT OF TAPCON ANCHORS INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4"
| R.408° — 11 | T -
2.989° — - =Y , 2.000" | ~ 187 B.2) CALK~I ANCHORS SMALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UMT. NO EMBEDMENT INTO
Lare- . STUCCO SHALL B PERMITTED. 1/4° #-20 SCREWS USED SHALL BE 1 1/2° LONG MINAMUM SHOULD STUCCO
- 080"~ 080" 2 | sz EXIST AND 17 MINWUM FOR WALLS WITH NO STUCCO.
@ SNAP CAP Y a2 @ CORNER KEY @ WALL MOUNT 53 v case maT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL ANGHORS
@ FLAT FEMALE HINGE @ BAHAMA MALE FRAME SCALE: 1/2° = 1° - LONG Alum. BRACKET SHAL 8E LONG ENOUGH TO REACH THE MAIN STRUCTURE BEMIND SUCH PANELS. ANCHORAGE SHALL BE AS
. BAHAMA FRAME ., . INDICATED ON NOTES 8.1) & 8.2) ABOVE.
SCALE: 1/2° = 1* SCALE: 1/2" = 1 SCALE.' 1/2° = 1 4° LONG
SCALE: 1/2" = 1" A . (C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS ANO SPECIFICATIONS OF THE
SCALE: 1/2" = 17 ANCHOR'S MANUFACTURER.
- 3,000 y 7. EACH SUTTER SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR TENANT TO
. HOLES ARE. GPTIONAL | | | SECURE SHUTTER WITH SIDE & SILL BRACKETS DURING PERIODS OF HURRICANE WARNINGS.
5 190" ]7 IT SHALL BF THE RESPONSIBIITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
L 146 i SHUTTER 15 10 BE ATTACHED 70 WSURE PROPER ANCHORACE.
, % 2 5. SHUTTER'S MANUFACTURER STAMP SHALL BE PLACED ON THE EXPOSED SURFACE OF THE BANAMA FRAME ©)
C ‘1 - 7y
R.228 . — (—) (c—) a3 EASTERN WETAL SUPPLY. INC.
% R 250 - — — — —— — - T MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.
] a
N 2, 10. (a) THIS PRODUCT APPROVAL DOCUMENT (PA.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT
. . VIDE | A SITE SPE ECT: i.0. WHERE ONDITIONS DEVMA W THE P.AD.
Yy 3 3 | PROVIDE INFORWATION FOR A'SITE SPECIFIC PROJECT, THE SITE CONDITIONS OEVMTE FRO
" | 8 8 v | R (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION OF THIS PRODUCT
| o2 Ly 83 - . «.000" ™ BASED ON THIS PRODUCT APPROVAL PROVIDED HE/SHE DOES NOT DEVATE FROM THE CONDITIONS DETAILED ON
'§ (vo.) R é‘:—:) 87— |- - + H THIS DOCUMENT.
: : — a : THIS PROGUGT APPROVAL DOCUMENT WALL BE CONSIDERED
N a3 8 : ch a—] — BUILD-CUT TR o
5% 15T L T Alum. BRACKET g (S S PR S, D 31,
2 . . , HITECT WHICH WILL ;
¥ T R § '§ Py 47 LONG N PROFESSIONAL OF RECORD (P.O.R) FOR THE PROJECT AND WHO AW"’“"”‘“"‘"’"“S with the
al L SCALE: 1/2° = 1" WILL BE RESPONSIBLE FOR THE PROPER USE OF THE PA.D. l‘loridaBuid C
T 78 I ol B R R e G o e 1/ T8 00
"1, 128%— . & {Typ.) L y : NOA#
102 _ . L SPECIFIC DRAMINGS FOR REVIEW,
i :13 - — (125 B I T Mhnll)adel’mdm Colmol
HALF SHUTTER 5T ___I_DG —— = ™ @ BUILD-OUT CAToRE 8 T oSt e R e o B
BLADE , PR o SIDE BRACKET
SCALE: 1/2" = 1” § FX Y 3 3 4" LONG
~N } i T ~ » »
. SCALE: 1/2° = 1
- g F.B.C.(H.V.H.Z.) /MIAMI~DADE COUNTY
J J s.290" AS SHOWN
e % . ASSA / EXTRUDED BERTHA BAHAMA SHUTTER  SHor
11257 3 / 02
—————— EASTERN METAL SUPPLY, INC. 8/30/
— ; DATE
— /TILTECO me. \ P
@ SHUTTER BLADE SHUTTER BLADE ELEVATION ' z:()\}‘ gswr TESTING & ENGINEERING COMPANY ST oA A0S DR 07 02—464
. . . . NW 380 S, S 217 VRGIA GMIDENS, FLORDA 13168 e
SCALE: 1/2" = 1 SCALE: 1/2" = @ S/LL ANGLE — > Prane (””5',;13&5;79 (X03)871-1331 — —r T DRAWING No
SCALE: 1/2% = 1" /‘; i M o Lo g Yea167" . : = = = ~ sueET 1 OF 8

GENERAL NOTES:




Pc/s or 0/3 or £/3 ® s+ ®or ®+@x /s or 0/3 08 £/3 RS | e conere
/ OR@ QOR@ * @ @o;a@ SHEET 8 OF 8) 1] OR COMCRETE ALOCK
©:©,, ©- ogr =t
o -} / / / o -] a \ ] ] a l |
[ \ / / 2
% g / : = e
z T ] ' 4 1L AN
— X 7 + i 1 | [ | ] =/
®+@_ T ‘ / — D —— .\ @
/ 959 | i R 77 W@é/%ﬂ R
4 x y N x
@ OR @ / MIDSPAN, SIDES [L g.b.’s.oro b,gﬁd M.S. J° VERTICALLY
REQUIRED AT (SEE SCHEQULE FOR { % (’z/)zlﬁymf PI/ess
MIDSPAN, AT 4 REQUIREMENTS ) or (J) SMS. TOP & BOTIOM
SIDES (SEE OUT_SIDE BRACKET - iy .S, TOES oo
SCHEDULE FOR FOR TRAPPED 4 SEE_SCHEDULE, SEE_DETAL 275 —, T SEF DETAK 275 —— )
REQUIREMENTS) — STALLATIONS FOR REOUIREMENTS}/ // AN § L _ OUT SIDE BRACKET SECTION A-A
P d ~ 7 ~ 4 \ A ~
. ° 1?1_// // // —(:r ° \\ 3 M r:T_»‘ —‘tr 2 PeSTALLATIONS (WALL MOUNT) SCALE : 3/8" = 1°
ofie 7 [ edflel Py T Ledlis £ (2] CALXN ANCHORS
Y- N7 | & | ~ZL N<-7 (EE SCHEDULE O 1 o ComcreTe BLoc
D ~ || ~eouren
7 ] 3 V/
~ 7/ | & / i
A DR Al 7 / A orlal | © ~ NI vt
AR Ay A 4 OR| A A OR| Al OR B % 1,8 dosure T
o /[ OR B Alum. ANGLE (Cont.) b
N // [/ N SOR B N (6083-T6 Auor)j /4"
// L/ ~—WNor®
// /Q §Uite 365 b
: 7 / p DR oo l| B 1R
Fo - — B33 FoT T M.S. © 3° 0. C. VERTCALLY
ry A} 7 / TN Y AN Lo o W/ 1/2° EDGE DISTANCE
[ 7 (AN [ [ /
Lo \ // ial ol \ Pal B or (2 10 x 1 172755
R T | 120 [y iod L — S.MS. TOP & 80
o o E o \ Ezl s o / s o s o 4 (Typ. AT EACH me
NG k@ foomTmo- = —®+® or () — {
ALTERNATIVE
&LTOE%WE m’ C/3 OR D/3 OR EA3 @ OR ® 0R Q) CORNER ﬂDC/J OR D/3 OR E/3 o e / SECTION B-8
CORMER FRACKET ey SEE SCHEDULE W SEE SCHEDULE W SEE SCHEDULE ——— | BRACKET LOCATION| W SEE SCHEDULE ——— S’ DR D F (BUILD-OUT) SCALE : 3/8" = 1~
UNLIMITED #IDTH Sex oeran orR (0) NOTE:
(2) 1/4" 8-20 x 2" E D =31/27
MULTIPLE UNIT ELEVATIONS N TS SINGLE UNIT us Wy 77" 53 :/:z in.
(4) 3/16" # Alum ACE T8 &’/;on%off \
POP RIVETS TOP/BOTTOM (1410 x 1 .1/2° SM.S. FOR @ (. AT EACH SRACKED)
FRONT/REAR oR @ . (10 % 1 1/2° Sks §
SRR o pmssssazszzzszssssssassscy NECAL AT i (2) CALK~IN ANCHORS
U ::: :H'";K__[ EACH CORNER. A =i % ] g?g?$u5 oN Appmved as compiying with the
N | | (1F10 x 3/4" SM.S. Cb OR@ — 3/4}—/1 .T % ’ z?%oOL
:;1; == POURED CONCRETE NOM S
| ®+©® s 385 e B
) M.S. i |
o - e
(110 x 3/4" S.M.S. SECTION A1 — Al % "
(FLOOR/CEILING MOUNT) %
- - SCALE: 3/8" = 1~ /
\@M@yg WeB NOCHED X b 2) CALK_IN ANCHORS F.B.C.(HV.H.Z.)/MIAMI—DADE COUNTY
O FENETRATE INTO ) 2 (Tvp. EA. ERACXET)
I (gr0 . 3 s s, wy wswer * =2 G2 ASSA / EXTRUDED BERTHA BAHAMA SHUTTER AS
Tvo. TOP & BOTTO /
N . 9/30/02
— (JFI10 » 1,727 SMS. EASTERN METAL SUPPLY, INC.
N (N) o (O———] (b e dmaiery Z IILIE COinc \ wssa t2 i
| 3.000" | | 3.000" —] — = 4268 WESTROADS OR.
/2" 1/2° /2" 127 S Deretes, 7 > aae m&;mﬁfﬁ”}";r WEST PALM BEACH. 1. 33407 Doj ;;6:
e H @ : (]
DETAIL 1 SCALE : 1/2" = 17 V7L £8-0000719 = - e - ==
77 mm kT % o T e i S S P




2" x 3° Mox. x 125"

Cont, Alum, B. 0. TUBE (1)f14 x 1(4' S.S.
POURED CONCRETE POURED CONCRETE POURED CONCRETE Cont. (6063-T6 ALLOY) SMs 0 & oc
Mo @ o Ny @ o BT NN
TAPCON ANCHORS TARCON ANCHORS TAPCON ANCHORS TAPCON ANCHORS
(SEE SCHEDLE ON (SEE SCHEDULE ON (SEE_SCHEDULE ON (SEE SCHEDLE ON
sumaora)—k mmaora)—x (F) cont.  Sveer 8 oF 8) SHEET 8 OF 8)
. ] - bi -—— Cont. g ——
I-_-L—-—\ EA——— [N S — —e — .
i i - - Cont. \
3 R
£0° £0®

X

L
el
o

AN AN

yo-e- S e

3.187°

!
I
[
|
!

EXISTING GLASS
I . SEr SCHEDULE ON - - SEE SCHEDUE ON

SHEET 8 OF 8 FOR Min SHEET 8 OF 8 FOR Min 1 SHEET 8 OF 8 FDR Min. I\

SEPARATION TO GIASS \@ on@ Cont SEPARATION TO GLASS \@ on@ Cont. SEPARATION TO GLASS \CD on@

Cont,

<
=

P

ALTERNATIVE LOCATION
FOR

\@ Cont.

Py

I
|
|
I
!
|
|
I
I
|
I
|

/,/ \)? :J)Rmpcou ancror  Sont @)
POURED CONCRETE T é X ggﬁz,:o;zm/ l %_
conaeeTe aLocr / % REQUIRED c 1=

(i %

(1) 3/8° RED HEAD —7 /
e ey )
7z

\© Cont.

POURED
\@ CONCRETE

OR CONCRETE [/

Cont. 8LOCK

REQUIRED
(3)F10 « 1 1/2" C
S.5. S.M.S.

1 1/2" / /
' ] / H (2) CALK-IN
(2) CALK~IN / ANCHORS/BRACKET
ZEN ()

A—® é:’.rgg 195

Ezy .

N
=3

1
1
H % [(J)IIO x 1 1/2° 5.5 S.MS.

1°x 1% x 125" Cont. Aum.
CLOSURE ANGLE (6083~T6 ALLOY)
ALLOY) W/ 3/16 # Alum.

POP RMET @ 12° 0. C. T0©)
4° #-20 x 1° SIDE WALK

POURED CONCRETE
1°x 1° x .125"° Cant. o / @ !
. . . 4 4" §—
Alum. CLOSURE ANGLE %ﬁmm BLoc / : Rrvwm urémtgcffz) i
. RIVET .3 - 14 ;-(:)
B @120 cC 0 2% x 37 Mox. 1.127%“
/ e (1)#14 x 3/4° 5SS SMS.

Cont. Alum. 8. O.
(606375 ALLOY)

T TAPCON ANCHORS
0.

L L eroc /‘
sz \7

T
-
750‘

i g

1
T

ANCHORS /BRACKET (SEE SCHEDULE ON
(SEE_SCHEDULE ON SHEET 8 OF 8)
SHEET 8 OF 8)

1— 1.500"—

1/4" 8-20 THUMB SCREW
1/4% 8-20 BOLT W/NUT

AT
N\

SECTION € = C  (waL wouNT) SECTION C — C  (waL mounT) SECTION D = D (auLo-our) SECTION E — £ (uLo-oun)
OPEN POS/NON. (74 .m.p.h. WIND SPEED) HURRICANE POSITION HURRICANE POSITION HURRICANE POSITION
SCALE: 3/8" = 1 SCALE: 3/8" = 1° SCALE: 3/8" = 1°* , 085" —— _i—.l’25' SCALE: 3/8" = 1~

Approved as complyiag wiih the

3 R =
. 049" (0m.) L 3 R 8 _.I Florida Buidjng Cogle
G5k B L N e
3 - D
775 s

- I— I-I_ ) AN Oz= !Hi QI
: I-—-I g I——r.?&a'—-I mgnmmmwc.m

187"I

I
! EXISTING GLASS

I/_ ALTERNATIVE LOCATION
I fOR @

Loy

PO (1) TAPCON ANCHOR Cont. @
/, \\
| e (2) 3/16° # Alum.

L
£

REQUIRED

Y
LI - [
7, 1/4* #-20 BOLT W/NUT, . 940
1 ,ﬁ/// 7 @) ] \// ® 875" SerRATED TUBE (L) 1" SERRATED TUBE  (3) CAMEL BACK HINGE By
e 3 Min. ‘ op@ Cont. INSIDE ARM OUTSIDE ARM 3003-H14 Alum. ALLOY
b g / 606378 ALLOY _ 606375 ALLOY SCALE : 38" = 1"
L ) / SCALE : 3/87 = 1 SCALE : 3/87 = 1 F.B.C.(H.V.H.2.)/MIAMI—~DADE COUNTY
(410 x 1 1,2
CONCRETE BLOCK / 53 M5 ASSA / EXTRUDED BERTHA BAHAMA SHUTTER AS oo

L}
POURED CONCRETE ™
: I

7
Y

(1) 3/8° RED HEAD —7

SLEEVE ANCHOR W/ /
1 1/2" Min, PENETRATION /
/

W NOTE: EASTERN METAL SUPPLY, INC. ”gf{s‘"’
\ ~ /a//0v £ 0. =31/ / llLIECOmc.\ (assa 4 2)
C Su 217, weGred

\) Min. TILLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS OR. 02—-464
. ALTERNA TE SECT/ON C! ’ . ) . 8385 AW, 38th S, 217, GARDENS, FLORIDA 33166 WEST PALM BEACH, FL. 33407
1/4° #-20 THUMB SCREW (WALL MOUNT) Phone (m”.;;;'&s ;79 (3038711531 —— — —— — — ORAWING No

.. . 3/8" = 1" WALTER A, TILLIT Jr., P._E. ' - - : -
1/4° #-20 BOLT W/NUT OPEN POSITION SCALE: 3/8" = i Lomoh L g “e4167 . - - - - —{ SHEET 3 oOF 8




POURED CONCRETE F/5
b/-'/5 *© ”‘Wm‘—\ b / POURED CONCRETE &@
oR REQUIRED ————\
SANNANNAANNA NN NN YA NN AN \\\\\17//\\\\\\\\\\\\\\ OO NN ANAANANANANANIMANANANNY
7 N ~ = | 4
/. AN ~ / | ‘ !
/ AN N 4 , } .
A r e — NG — 0=
/ AN _/ N _ 7
REQUIRED [[ - 7 AN ; [/
e % 7 @ Do 7
I o §
e ,1 % ] | g s, B W) e |
> /_SEE o | s ‘ d REQUIREMENTS) fg\ REQUIREMENTS) — — A /5ﬁ\ | AdoseaN AT 4
; Q
A ~7 . \WEREN g A ~7 7] R SCHeDuLE FoR 2
— A= 7 / =N : d= =N
oot =g =ENG e =5 :
G/5 p G/5 G/5 :
A 7( > \ - / = ~
] L[ 2 2
7 [ & g
/ /[ "
/[
N // /L N o~N N
/[ 3
/[
/[
/[
A ] [
wa R v [
= et o e = Ml = o /—————;ﬁ*’—"ﬁ; ——————— SR e /3\
n — = L
ST A7 //é@//// LA /_fL/_/__/_/L/_/_/_{L(‘/ LTSRS AL
+ NOTCH 2 1/2° WOE x 2 7/8° HIGH +
W F/5 3" LEG OF ANGLE Q) AT EACH INTERIOR EF DETAL 1 W/-‘/fj @
W (SEE SCHEDULE) W (SEE SCHEDULE) W (SEE SCHEDULE) W (SEE SCHEDULE)
UNUMITED WIDTH
MULTIPLE UNIT 1 EVATIONS SINGLE UNIT
g oo 2 sus o0 D)
FRONT/REAR /- @ Typ. o (1)F10x 1 1/2" SM.S
S S —@ «
TVPICAL AT
EACH CORNER. Approved as complying with the
FlondaBmd
|~ (810 x 34" sus. WZ?LOVL/
-------------------------- NOM 7~

e e - /© + @ Mnlm!! M: m; [Con:tml: :

oI TT I By

U — ()10 x 3/4" S.MS.

e e e — Ml 20 e e e e e |

il - - - - -] F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER AS oo

Wy WEB NOTCHED Ve R W
/ ) 4 T B éé‘ °iz0c EASTERN METAL SUPPLY, INC. 9/ Jo/02
+ @ (w’) s MS. HEAD ANO SILL. IL E C o INC. (AS.5A. F 2)
Typ. TOP & BOTTOM. W TILLIT TESTING & ENGINEERING COMPANY 4268 WESTROADS DR.
DE TA /L 7 i wm—-—) 4593 N.' J8th. f_’vas%r”rm% ;%’w Jy108 WEST PALM BEACH, FL. 33407 005;~466~4°
SCALE : 1/2° = 1 /f/f/ﬂ.b" ermEf‘%‘ZZsr"j .. n:v.’n u:arm u_n' lV;'b nucl‘rmn n:rr

FLORIDA Lic. # 44167 7 - - - — — SHEET 4 oOF 8




(2) 1/4° #-20 x 2" S.S. .
M.S. W/ 7/3': J/J? 0T 7 + @

WMING NUT @ 3°
VERTICALLY W, 7/2
DISTANCE & BOTTOM

(Typ. AT EACH MET)\
~ —

POURED CONCRETE
REQUIRED ————\
TAPCON ANCHORS

(SEE SCHEDULE ON

SHEET 8 OF 8) |
‘750'§ \]T

?
1
1/2

Cont.

(J)[ro x 1 1/2 )sus

/ ‘ (2) CALK—IN ANCHORS
; Cont. T Tt S % g&;E_ET Sca'Hg?_ULal}' ON R
f O*@ | HZLL e i 3
J s 6 AR — e
r | | '%_x
EXISTING : @/ % : ( \ S

%
x /

7 T————

“_——‘“"_W‘“_“TT"""“H’"

=i () o# () con SECTION G - G
T cace TN (FLOOR/CEILING MOUNT) on@
A A HURRICANE POSITION DETAIL 2
v W SCALE: 3/8" = 1° SCAE - 12" = 1*

|/ #-20 RWUT ©
0. C. w/ r/4 #-20
| 25 5. M LL

s, FU i
| LENGTH LOCATE. ALWAYS \@ Cont
AT WO BOLTS 1° :

| AT EACH SIDE OF INTER

1HULLION SEE ELEVATION | | M

ON SHEET 4 OF 8 FOR s e i cfoiepfe g $acfiae: ffegend
fBoLT tAYOUT). ==

|

| 3 E— =N

| 0 - — — W] .r Cont. NOTE:

! § E D =312y _

| o Min. ~Pezz=ss=z=zzo=s=ooooo ==3==

L A, - e
Sk RS /L 7 ;

__________ . (2) 1/4° #-20 x 2*
Mos"w 75 x J/J?
T

SECTION F — F (FLOOR/CEILING MOUNT)

HURRICANE POSITION
SCALE: 3/8" = 1 DETAIL 3 Appmvednscompl)mgwnh(he

SCALE : 1/2% = 1" Date ,L T '2,007-«

2. -
% Dade Prodact Control

By

(Typ. AT EACH BRACKET)

F.B.C.(H.V.H.2.)/MIAMI—DADE COUNTY

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER AS oo
EASTERN METAL SUPPLY, INC. ng#”
IL ECOINC (AS.SA 4 2)
D Q ST ENGINEERNG caumu 4268 WESTROADS OR.
' % ‘;1:1.:: v, Join, sc'l?h‘:w VIRGIS CARDENS, FLORIDA 13 Y WEST PALM BEACH, F1. J3407 02—-464
S : (309)871-1530 . Faxr : (X0S)871~1831 DRAWING No
/'?///27'7/ EB-0006719 ) aEICHPTION AT | ALV, e DESCRPTION T
WALTER A. TILLIT Jr., P. E ; = = 3 = =
: FLORIDA Lic. # 4167 P = - - - —{ SHEET 5 OF 8




1/4° 8 x 3° LONG
N ‘ LAG SCREWS 0 68° a. C.
e W 1 1/2° Min, PENETRATION
) TO EXISTING WOOD HEADER.

o)

QUETTI0 l-lll'llﬁ:::ill!' I:

1/4° 8 x 3" LONG
A LAG SCREWS @ 6° 0. C.

%J/!G' o Alum.
RIVETS

ﬁ Cont.

O EACH JAMB &
MULLION LOCATION

\ e W 1 1/2° Min. PENETRATION
b TO EXISTING WOOD HEADER.

NL@
_©

Cont.

Cont,

Cont.

Moax. SPAN 1~

WooD_STUD' «
1/4" =20 BOLT W/NUT recores & |1
4 -1 (1) 1/4" # x 3° LAG SCREW © L it
wooo srﬁo EACH STUD (MIDMDTH OF STUD, . Y
0 24° 0. C 27 Min. NMML) AND W/ 1 1/2* Min.
- PENETRATION INTO EXISTING STUD.
OPEN POSITION DETAIL : (74 m.p.h. OR LESS WIND SPEED) ALTERNATIVE 1
SCALE: 3/8" = 1" HURRICANE POSITION
SCALE: 3/8° = 1”
EXISTING GLASS
,(:zg J/16" 8 Alum.
P RIVETS

. (L) o excr sine &
1/4"° 8-20 MULLION LOCATION

THUMEB SCREW
1/4" 9-20 BOLT W/NUT

"/
2”?’3-55“% (1) 1/4" # x 3" LAG SCREWS ©
REOUIRED EACH STUD (MIDMDTH OF STUD,

27 Min. NOMINAL) ANO W/ 1 1/2° Min.
D.

1/4° #-20 BOLT W/NUT

'os' *

¥- (2) 1/4° 8-20 £1CO

male/fernoie
W/ 1 7/8 MINIMUM
PENETRATION AT MIDWIDTH
OF EXISTING WOOD PLATE

PANELMATE

EQ EQ

A LAG SCREWS @ 8° 0. C.
W ! 1/2° Min. PENETRATION
TO EXISTING WOOD HEADER.
c Cont.
8
_I Cont.
K : Cant.
3 e
“N .
..'? . > -
1. :ar'—j
WOoOo0 Hg,wcn
EXISTING
\ | \@ OR @ Cont.
|—— SEE SCHEDUI —J -
ON SHEET 8 OF &
FOR MINIMUM 3
SEPARATION S
. 3
)
v
J) Cont.
G Cant.
17 % 1" x .125 Cont.
Alum. CLOSURE ANGLE
'5063—-T8 ALLOY)
J/;g; .
. .
i ) 0270 c @
L \\t (3410 x 1 1/2° 5.5. S.M.S.
gzv 714' #-20 ELCO male/famale

1/4° 8 x 3° LONG

wooD sTug
@ 247 0. C.
REQUIRED

b

-

TE W/ 1 7/8° Min.
PENETRATION AT MIDWIDTH
OF EXISTING WOOD PLATE

0

ALTERNATIVE 2

HURRICANE POSITION
SCALE: 3/8" = 1”

WALL MOUNTING INSTALLATION & BUILD-OUT

— SECTION A

EXISTING l——SEE SCHEDULE ON SHEET-
GLASS K 8 OF 8 FOR MINIMUM
SEPARATION TO GLASS
A
A ¥
L
14 x 3/4"
.S. S.M.S.
(s)
1
I~
e E::}f

£Q

3
L]

\

WooD STUD b
0240 ¢ |1
REQUIRED I

A -

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

ALTERNATIVE 3

HURRICANE FOSITION
SCALE: 3/8° = 1"

1/4" 8 x 3° LONG

LAG SCREWS @ 8° 0. C.

W ! 1/2° Min. PENETRATION

TO E0STNG WOOD HEADER.
2 x 3" x 125" Cont
Alumn. TUSE
(6063-18 ALLOY)

f14 x J/4° 5. s
S M Sesoc

1°x 1° x 125" Cont. Alum.

CLOSURE ANGLE (6063—-TB ALLOY)

w/ 3/18° 8 Alum RIVETS

0 12°0 C. T

SZJLI 4° #-20 x 1° SIDE WALK
INTO 1/4" #-20

2° x 3° Mox. x .125° Cont Alum.
8. 0. TUBE (6063-T6 ALLOY)

1/4" ® x 3° LONG (AG SCREWS
0 8°0.C W/ 1 1/2° Min.
PENETRATION TO EXISTING WOOD
PLATE.

Approved as complyiag with the

NOTES :

1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESICN WIND LCADS5
LESS OR EQUAL THAN +62.0, —75.0 p.s.f. AND Max. SHUTTER SPAN AS

PER SCHEDULES ON SHEET 8 OF 8.
2. NEW 2" x 6" P.

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR ECUAL.

T. TO BE SOUTHERN PINE Ne. 2, SURFACED DRY WITH
19 X M. M. C. W/ SPECIFIC DENSITY OF 0.55.
J. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

ALTERNATE OPEN POSITION DETAIL

PENETRATION INTO EXISTING STU.

SCALE: 3/8" = 1*

>
St
7efr) 7

/Titlecome \

TILLT TESTING & ENGINEERING COMPANY
JJ188

6505 ALW. 38tk S, Sta 217, VRGINIA GARDENS. FLORIDA
Prane : (J0S)71-1530 . Faw : (JD3)871-1331
EB—0006719
WALTER A. TILUT Jr., P. E.
FLORIDA Lic. f 44167

rida Buiding Cpde
rl;:te ,m’f Lool,
NOA#_OZ — :
Miami Dade Product Control
By .
F.B.C.(HVHZ)/ MAMI—DADE COUNTY
ASSA / EXTRUDED BERTHA BAHAMA SHUTTER A ot
EASTERN METAL SUPPLY, INC. /3002
(ASSA £ 2)
4268 WESTROADS OR.
WEST PALM BEACH, FL. 13407 02—-464
. = - - - ] SHEET 6 oF 4




A :
- . REQUI N —
- } WOOD TRUSSES OR RAFTER : 2" x 4" WOOD STUDS — !
|- © 24° 0. C. REOUIRED (Iyp.) ~~< REQUIRED © CORNER ~~_ |
(2) 1/4° # ELCO fernale (Typ.) ! I
PANELMATE W/ 1 7/8° Min. . T | >
\ PENETRATION |
. Cont. R L ‘ {2) 1/4° # ELCO female X :
- @ on ra ’05 g ’(’,op PER”%LZE) 5 i PANELMATE W/ 1 7/8" Min, f ‘
” : y \ O REAR ONLY N PENETRATION ——— |
1 2% Min}- :d/—-@ Cont. < b 5% x J/16° Min. ;
/ . Alum. PLATE Cont. 1) or _.\ ’
WOOD HEADER /] 500" ~ (8083-T5_ALLOY) W/ %
REQUIRED ; T R /_® Cont (2) 5/16° # x 3" IAG OR !
[H] Caem - 4. o e ~L. ., SCREWS TO EACH JOIST. . '
: L . gl N s @ LOCATE SCREW AT T = e
0 : Cont.  MIDWIDTH OF EXISTING e | T OR @ ;
/ /——@) Cont. €153 ‘.__/ WooD usuam)(z'/um. ===t = T — f ¢
14" 8 x 3G —] 4 /.___@c,_ NOMINAL WIDTH) W, A ‘ g 14 x 3/4° S. S.
Crews '08%0. <. ‘ 665¢° ™ 2% Min. PENETRATION. it 47/4 J/167 # POP RIET O S. M S @9°qcC -
R ‘ . C. | 6°0. C. (1 PER BLADE)
, O REAR ONLY H
PENETRATION 2
QLG
(2) 1/4° »-20 RIWUTS W/ A 2" x J 3/16° (Max.)
1T 10 21 r/gD @ 6 {f) s’/; L2 LE%?__A O = R ————— x 1/8° CLOSURE
Alurn. ANG
m@ S. M. 5. T0 (LoR W,/ 1/2* EDGE DISTANCE - um. ANGLE (Cont.)
@ . OR (2) #10 x 1 1/2° 5. S.
£ 10 x1 172 u's rop & dorrom
- or @ S. 5.5 M.S. Typ. AT EACH BRACKET,
[~ SEE SCHEDULE — . - SEE SCHEDULE ON SHEET - o @0’?@ s /
Fon wwmns - 8 OF 8 FOR MMM 3 (2) 1/4° 8-20 RINUTS W/
SEPARATION B‘u & {Lz)sr/; J--goé: x’/n;/z S. S
GLASS ) TICALLY
; § SECTION A-A W/ 1/2° EDGE DISTANCE
; £ 10x1 1/2° OR(Z)/IOxrr/ZSS
A N S. 5. S S .M. S. TOP & BOTTOM
¥ ) (WALL MOUNT)  SCALE : 1/4" = 1" 0 @o.e‘@ Cipr A7 A BRACKET)
1/4" #-20 RYNUT @ 9° 0. C.
W/ 1/4" '_2?)'2 S S M S
FULL'LENGTH (LOCATE ALWAYS - _
—— AT LEAST TWO BOLTS 1° AT EACH x 47 WOOD STUDS SECTION B-B
A 1/4 4-20 RWVNUT @ 9° 0. C SIDE OF INTERIOR MULLION. SEE REURED' @ CORNER
‘ W/ 1/4" #-20 x 2°S. S. M. S. ELEVATION ON SHEET 4 oF 8 FoR  (T/P) NT ” .
@——\ \ FULL LENGTH (LOCATE ALWAYS goLT LavouT) (2) 1/4" 8-20 x 2° 5. S. ©) (WALL MOUNT) = scaie : 1/4" = 1
! AT LEAST TWO BOLTS 1* AT EACH M. s wy 7/8" tJ/JZ
i SIDE OF INTERIOR MULLION. SEE FrE——W 2% x 6° WOOD DECK WING NUT @ 3" 0. C.
£ ELEVATION QN SHEET 4 OF 8 FOR - REQUIRED VERTICALLY W/ 1/2" EDGE \
: - BOLT LAYOUT) : YA DISTANCE TOP & BOTTOM \ I
2" x 6" WOOD DECK = (Typ. AT EACH BRACKET)
REQUIRED - — —
— — — —— ——— — e b — — e »___{ﬁ* — o e | <P
o ] —l —
~,—_I ! \ 1/4° #-20 ELCO female 1T
1/4" #-20 ELCO female PANELMATE © 6° 0. C. W/ 1 7/8" (1410 x 1.1/2°.S.5S. - 3
PANELMATE @ 6° 0. C. W/ 1 7/8" Min. PENETRATION INTO WOOD DECK s.Ms. 10 (DOR .
Min. PENETRATION INTO WOOD DECK L
(2) 1/4" 8 ELCO female LR :
PANELMATE W/ 1 7/8" Min.
ALTERNATIVE 4A ALTERNATIVE 4B PENETRATION
SECTION G-G
Approved as comply“'ﬂ with the
FLOOR/CEILING MOUNTING INSTALLATION (FLOOR/CEILING MOUNT) scaie : 1/4™ = 1 Florida Butjog ©% 002
(4
— SECTION A SCALE: 1/4" = 1"
INSTALLATION DETAILS ON EXISTING WOOD RBUILDINGS
NOTES :
NUito AS SHOWN
ASSA EXTRUDED BERTHA BAHAMA SHUTTER
1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND LOADS / SCALE
/Lgass%‘?fsoﬁé THAN +62.0, ~75.0 p.a.L. AND Max.' SHUTTER SPAN AS Py
HEDULES ON SHE 8. | I
2. NEW 2" x 6° P. T. TO BE SOUTHERN PINE Na. 2, SURFACED DRY WITH "_ E cCO EASTERN “EZAL SUPPLY, INC. DATE
L 18 x MM cC W/ SPECIFIC DENSITY OF 0.55. INC 42“(*5 A ’ag)on
i WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN W WESTROADS DR.
PINE Na. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. = L m"g“; [ENGINEERING COMPANY WEST PALM BEACH, FL. 13407 02-464
Prane : (303)871-1330 . Fax : (J0S)871-1537 ORAWING No
/67 S L £8-0006719 ALV, No OEICAPTION M | AV N orsemPTION 4T
WALTER A. TILLIT Jdr., P. E ’ - - g - - SHEET 7 OF 8
FLORIDA Lic. § 44167 5 = = . - =




SCHEDULE # 1

MAXIMUM SINGLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE

SCHEDULE # 1A

MAXIMUM MULTIPLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE

SCHEDULE # 2

SINGLE UNIT ELEVATION CASE / : WAL + WALL MOUNT MULTIPLE UNIT ELEVATION CASE /1 : TRAPPED TOP/BOTTOM
CASE | : WMALL + WALL MOUNT CASE # : me OR TRAPPED AT SIDES + SIOES (SH 5 OF 8)
OR TRAPPED AT SIDES + SIDES (' soF8) (SHEET 2 OF 8) i cttititatina
(SHEET 2 OF 8} » ” @) or » f @) or l‘
SIDE BRACKET ! SDE‘BRAO(ET i
BAHAMA SIDE BRACKET SIDE BRACKET BAHAMA {Tye.) \‘1 . i Typ.) i
SHUTTER ) =~ L ) =~ L SHUTTER —— & .
TYPE ALTERMNATE SIDE & I TYPE BRACKET 2 >
aracxET ——— | 2 > 1 } E
tr L . === i e Yo o o] — Wb ey
= - — g +— ingoeten #—
DESIGN MAXIMUM SPAN “L* (IN) DESIGN MAXIMUM SPAN “L* (IN)
PRESSURE PRESSURE
RATING (p.s.1.) | waxmeun umir MINIMUM SEPARATION RATING (p.s.f.) | waxmum umir INTERIOR MULLION  |MINIMUM SEPARATION
AND CASE # wioTH “w* (N) | W/0 SIDE BRACKET | W/ SIDE BRACKET  \757c 4ss (IN) AND CASE § wiDTH “w* (IN) | W/ SIDE BRACKET | W/ SIDE BRACKET TYPE REQUIRED TO GLASS (IN)
CASES | & I CASE |
+56.0 , -63.0 42" 52" N/A 3 1/8" +50.0 , —-43.3 36 1/2" 72 1/2" N/A Al 2 1/2"
CASES | & I CASE |
+75.0 . ~100.0 42" N/A 96” 2 1/8" +62.0 . -75.0 36 1/2" N/A 83" A2 2 3/8"
CASE 1l
+62.0 , -75.0 36 1/2* N/A 84" A2 2 3/8"

LIMITATIONS FOR SINGLE AND MULTIPLE UNITS BAHAMA SHUTTER'S UNIT WIDTH (IN), SPAN L (IN) AND

CORRESPONDING MAXIMUM DESIGN PRESSURE (p.s.f.) FOR THE INSTALLATION OF SIDE & SILL BRACKETS

INTO CONCRETE & MASONRY BUILDINGS BY MEANS OF (2) 1/4" # x 7/8" CALK—IN ANCHORS *

SCHEDULE # 3
MAXIMUM ANCHOR SPACING AT TOP FEMALE HINGES B , © ., OR (D AS

WELL AS SILL ANGLE @ AT BOTTOM (AS APPLICABLE) FOR INSTALLATIONS
INTO POURED CONCRETE HEADERS AND SILL ***

SINGLE & MULTIPLE UNITS

MAXIMUM NEGATIVE

SINGLE UNITS

MULTIPLE UNITS

DESIGN PRESSURE

SIDE & SILL BRACKETS **

RATING (p. s. f.) TOP & BOTTOM TO CONCRETE

DESIGN PRESSURE SIDE & SILL BRACKETS **
RATING (p.s.1.) TO CONCRETE 70 8LOCK TO CONCRETE 70 8LOCK
Max. "W”° Mox. 1° Max. W~ Max. " Max, W*° Max, L° Max. ‘W* Mox, 1° ALL PRESSURES COVERED
9” 0. C.
-55.7 42" 96" 42" 96" 36 1/2* 84" 36" 84~ IN SCHEDULE # 1 & f 1A
- " " " v . J&" 72"
—-65.0 42 96 42 96 36 1/2 84 37° 4"~ *Kkk SO SHEETS 6 & 7 OF 8 FOR ANCHOR SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.
. - n " . - J6 1/2° 62°
-75.0 42 96 42 96 36 1/2 83 27" 83"
-83.0 42 96 42 96 N/A N/A N/A N/A Approved as complying with the
42" 63 gomg'l“} -Ig7f %002
_ . “ te 00
100.0 42 96 35* >3 N/A N/A N/A N/A o o
Miami Dade Product Control
¥ FOR ELCO PANELMATES ((2) 1/4" # W/ 1 7/8" PENETRATION) USED AT SILL & SIDE BRACKETS FOR INSTALLATIONS INTO WOOD. SEE SCHEDULES # 1 & # 1A FOR SHUTTER SIZE D f )4 M\/
Y24

*X N ANY CASE, MAXIMUM “W* & "L* VALUES W/ CORRESPONDING DESIGN LOADS SHALL NOT EXCEED MAXIMUM VALUES INDICATED ON SCHEDULES £ 1 & 1A,

ASSA / EXTRUDED BERTHA BAHAMA SHUTTER AS oo
EASTERN METAL SUPPLY, INC. 9/;%_02
IL ECOINC. (AS.54 f 2)
— 4268 WESTROADS DR.
TILLIT TESTING & ENGINEERING COMPANY
% _._:)> 0565 NN, . S, Ste 217 WRGNA GAOENS. FLORRM 33168 WEST PALM BEACH, 1. 33407 02—-464
/ ‘ / / I Lo e (M)‘E{;——';st;ﬂ;g oz ALY. Ne ESCAPTION OATE AEV. Ne DESTINPTION DATT DRAWING No
7 WALTER A. TILLT Jr., P. E. = = 3 = ~
. FLORIDA Lic. £ ;4157 ,' = - p - - SHEET 8 OF 8

F.B.C.(HV.HZ)/MIAMI—-DADE COUNTY




